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Practice Questions
Sets And Relations

Topics Covered:

Introduction

Introduction Of Sets
Type Of Sets
Subset Of A Set

Venn Diagram
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6. Properties Of Venn Diagram
/. Relation
8. Types Of Relation

9. Equivalance Relation
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Question Number: 1

Let

P={(z,y) | * + ¢’
= 1,2,y € R}.
Then, P is

(A) Reflexive
(B) Symmetric
(C) Transitive

(D) Anti-symmetric

CORRECT ANSWER: B
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Question Number: 2

A relation R on set of complex numbers defined by

Zy — 2y | o
/1RZ, & is real then which of the following is
41+ Zo

not true ?

(A) R is reflexive
(B) R is symmetric
(C) Ris transitive

(D) R is not equivalence

CORRECT ANSWER: D
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Question Number: 3

In a town of 10,

buy newspaper

000 families it was found that 40 % families
A, 20 % families buy newspaper B and

10 % families buy newspaper C, 5 % families buy A and B,

3 % buy B anc

Cand4 % buy Aand C.If 2% families

buy all the three news papers, then number of families which

buy newspaper

(A) 3100
(B) 3300
(C) 2900
(D) 1400

Aonlyis

CORRECT ANSWER: B
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Question Number: 4

A survey shows that 63% of the people watch a new channel

whereas 76% watch another channel. If x% of the people

watch both channel, then
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Question Number: 5

In a certain town 25% families own a cellphone, 15% families
own a scooter and 65% families own neither a cellphone nor a

scooter. If 500 families own both a cellphone and scooter,

then total umber of families in the town is
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Question Number: 6

Let U be the universalsetand A U BU C = U then
{(A-B)U(B-C)
U(C— A}’

Is equal to
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Question Number: 7

Suppose A and B are two sets, then (A U B)' U (A’ N B)

is equal
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Question Number: 8

If a € N suchthatalN = {ax:x € N} .Describe the set
SNNTN
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Question Number: 9

Let F7 be the set of parallelograms, F5 the set of rectangle,
F3 the set of rhombuses, Fj the set of squares and Fr, the
set of trapeziums in a plane. Then, F; may be equal to

(A) Fy N Fy
(B) F3 N Fy
(C) Fy U F
O)F UF, UF, U F,

CORRECT ANSWER: D

Watch Video Soution on Doutbnut App °



https://doubtnut.app.link/ufCOAsajY0

Question Number: 10

If set A and B are defined as

1

A= {(m,y) | Yy = ;70
7 T ER},Bz{(x,y)
‘y: —CE,CEER,}
. Then

(WANB=A

(B) AN B = B

(C)ANB=¢

D)AUB=A

CORRECT ANSWER: C
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